TH6FEEIOAME EXEMERTIERITEEN—ER(TE.ZIFTERIR

£2 I % % éﬁ IHE | 2r%E | =RFE IEHE
Py — A = = * ﬁﬁlﬂﬁ 40m
| |[pTeEE—RTEEA2ASHEEE |2 | pa x| FHOE | FHOFE |mwT 40m
BIE RAMA | A2 Yo g 38 |#£T coni
N SR ” WETRET =
2 SHeEE EXETELTUAREXEAKX | KEHETiH +K—3t SH6E | FFTE SET 13t
HEET ARG AEE TS P 2 1R 38 |mEmT 1 pEmT i
) |PROTERTERESISRERER | | x| DHOF | HHTE s
1A 3R EEABYI 1%
, |PHOSE-BTELRTRARES | gy | £z | FHOE | BRIE BT dom
118 28 SHET 40ni
5 |PHOTERTENROSRALER | guyn | 4| DHOF | HHTE s 20m
118 28 SHET soni
= BEIEZER 30m
6 |sHerEREIOSERRRATE | TR x| THOF | SHTE geT som
[ 118 3H HWET 60ni
A = HEIIER 75m
7 SH6FEE FAFRIGFE K AKEH =K | £A—3 SF064E SHTE KT L=75m
BIE 3 A= g 38 |W=T =
N - MEIER 50m
o |pmemm xmmrmmmmknas |KEEw| | RH6E | FFTE |Kur L-som
I% ® A= g 38 |W=T i
o |BHOSE BEAIREREAIET |5 | 14—zt | FHIOE | TE KT v
118 3H &L 1=t
N 5 . s N EITIER 100m
10 ﬂ‘*ﬂ6¢l§5§}5ﬁﬂ“|$ﬁ#}ﬂ'§fiﬁﬂ§ Jeil e | £A—3t SH6E | FFTE SHET | =100m
HETE A= g 38 |HET =
D T rrp— | ames | amig [EpEx2m
L e = INRHhA [ 2 Rk—= ﬂ12DJE]¢ 'ﬂz%ﬂi BISITERRT 20m
17 |PHCFE 2BTEUCHTRUAER | iz | x| PHOE | HAE T o
128 38
A . - — WBIZER 20m
13 |FHCEE 2B IEELRBBREES | 55 0 | +k—zt | THOF | BHTF ezt 20m
BTE A= g 38 |#=T soni
MIER 20m
14 |afneERE DSE TERSBERATSE | Aamn | th—st| TA0F | BHTE |gET som
128 38 SIET 30ni
s |PHOFE WEFBREORRARASE Wl | RHOE | SHIE BT Lo
N 12H 3H &L 1=t
N o - - HEIER 25m
16 [PHoEE RELTHARmERAASE |RBW | L | FRTE | SHE [KuT oo
HRTH n * 1R 38 |emT %
N Ak S, s s = A ™, HEIIER 10m
17 SHIGEE FBE) I FEASPHARAKE | FBE) +K—3t SHIE | FFTE JKEET L=10m
WETH R 2 g 38 |emT i
1o |PHOFE ERFMBONFAREE | gg | £h—x| FIE | $HIE R L oim
1A 3A HET 13
MIER 15m
19 |Sf6EmE ERANBRELBBETE |l sorr| tx—st| PIUT | FHE Jgpr Lo,
1A 3A HET 1=t
o . 5 BEIZER 1200m
20 SH6FEE 24Kk & K H M SEHh R S " . SH6E | FFTE SET 24000
{'%I$ j(E %ﬁa\z 12ﬁ SH m




